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ENGLISH VERSION

1  Attempt any one in 1000 words : 14
(1) Describe the necessity of academic library based on its types.
OR

(2) “Public library is necessary for development of the society”
Discuss the statement.

2  Attempt any one in 1000 words : 14
(1) Discuss the five laws of library science.
OR
(2) Which measures a library should adopt to fulfill fourth
law ?
3 Attempt any one in 1000 words : 14

(1) Describe the objectives and functions of national library.
OR
(2) Describe functions and services of special library.

4  Attempt any two short notes : 14
(1) Explain services of university library.
(2) State the growth of national library of India.
(3) Public library manifesto of UNESCO
(4) Resource sharing.

5  Attempt following questions in one or two lines : 14
(1) What is the role of library in non formal education ?
(2) What functions does the professional association carry out ?
(3) What is censorship ?
(4) What is Intellectual Property Right ?
(5) Name any four public libraries of Gujarat.

(6) What is the role of global library professional
associations ?

(7) How was CILIP established ?
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